PROFESSIONAL EXAMINATION BOARD

Training Officer’s Selection Test : 2016
8th November 2016, 03:00 PM

Topic:- General Knowledge
1)

Question Stimulus :-

What is M-Shiksha-Mitra, launched by the Govt. of Madhya Pradesh? / 4 UST
WHR §RT = B T3 T9-Rren-for @ 32

e Curriculum / UTadshH

Teacher’s Diary / R1&& &t st

Student Academic standard / B3 e TR
Mobile App for Teachers / Rig®I & ford Hiasa U
Correct Answer :-Mobile App for Teachers / fRig®i & ford Hiaga vy

2)

Question Stimulus :-

Madhya Pradesh holds the largest reserves of in India. / A9 USKT H HURT &T Ja9 937
SR 81

® Coal / CAUKI

e Manganese / ATle

* Dolomite / SidMze

® Copper / didl
Correct Answer :-Copper / dil
3)
Question Stimulus :-

Which of the following rivers do NOT originate in Madhya Pradesh? / g afeai o
¥ P9 W 98 g e A R &Y it 32

e Chambal / dWd

e Banas / 99



e Wainganga / =91

e Shipra / R
Correct Answer :-Banas / 94919
4)
Question Stimulus :-

Kalaripayattu is an ancient form of martial arts that originated in which state? / W'\FNTEIE I |
3¢ BT TP UM ¥ g, SHPT 37 by Isa H gam?

e Tamil Nadu / dfi@Tg
e Kerala / A

® Maharashtra / HERTY
e Telangana / CRUIE

Correct Answer :-Kerala / CaL|
5)
Question Stimulus :-

Dr. Radhakrishnan was the President of India during / ST. ITUTH T fFa T d URa & ?T@Tﬂ%
q?

1957-1962

1962-1967

1952-1957

None of these / ?Fl'ef g ﬁé T-Iﬁ

Correct Answer :-1962-1967

6)
Question Stimulus :-

Which instrument does the Gwalior-born musician Amjad Ali Khan play? / iR ¥ 9 SifideR
3HVIG el W, P AT T Jolld 82

e Sarod / W



e Sarangi / IRt

e Tabla / dddl

e Jal tarang / &d a1
Correct Answer :-Sarod / WIS
7)

Question Stimulus :-

When was the Khajuraho Group of Monuments declared as World Heritage site by the

UNESCO? / &d ToRIgl & WRDI &I gwp! gRT Ay favma w@ gifta far mar
* 1985
* 1986
* 1983
e 1887
Correct Answer :-1986
8)
Question Stimulus :-

Which European country owned the Nicobar island from 1756 to 1868? / 1756 ¥ 1868 & F@aR

g7 W fra Ry 3z 31 Wit ur?

® Portugal / H?f‘TI?[

* France / I

® The Netherlands / m

e Denmark / SIS
Correct Answer :-Denmark / TS
9)

Question Stimulus :-

Who is the author of the book “Driven: The Virat Kohli Story”? / J&I® ‘%aq: fg farTe wigdt @R
& 9GP P 5?2

e Samir Chopra / IR ?'-ﬁ'CI?,T



e Suvam Pal / JdH UTd

® Vijay Lokapally / faorg Aoy

® Ayaz Memon / 3Tl 9T
Correct Answer :-Vijay Lokapally / fasa @ieueet
10)

Question Stimulus :-

What is Kaimur, Maikala, Mahadeo in Madhya Pradesh? / Heg U | aTFB, ﬁ?ﬁﬂ, 'HE'I%H ET.IT%'?
®* Forests / dd
® Mountains / Ugls
® Valley / urdl
® Rivers / Hﬁ?ﬁ
Correct Answer :-Mountains / UglS
11)

Question Stimulus :-

Where is%NationaI Law Institute University situated? / 819 faftr e fayfaemea
el AT 82

* Ujjain / S=H

e Bhopal / T
 Gwalior / TaferaR

e Hoshangabad / SIRIIETG

Correct Answer :-Bhopal / HIuTed

12)
Question Stimulus :-

Spot the odd one out. / TPh fauw 9 ATd Y|

* Roundworm / Tﬁw&[
® Pinworm / '&IT'I?T&I'



e Ringworm / GIg
® Tapeworm / m&[

Correct Answer :-Ringworm / ¢l

13)

Question Stimulus :-

Which of the following is a lake in Madhya Pradesh? / g o @ 19 I g wew # fRa Udh 5ﬂ?[ 87
e Chilka / fareeT
e Shiv Sagar / 19 9

e Tawa /ddl
e Loktak / dlhcH

Correct Answer :-Tawa / ddl

14)
Question Stimulus :-

Alirajpur of Madhya Pradesh is known as of Madhya Pradesh / H&d USRT & Gl?ﬂ?'l'ﬁl'g? m‘r,
H UG Bl HE1 ol 3

® Darjeeling / EITrm%FT
® Gateway / Te-a

e Jaisalmer / SIICTAR
® Cherrapunji/ a?Tll\_rﬁ'
Correct Answer :-Cherrapunji/ %?Tqy:ﬁ

15)
Question Stimulus :-

The U.N day is observed on / ITgad I f&aq Ha WAMT ATl 32

® October 24 / 3dgdR 24
e January 24 / STIGRI 24



® September 24 / fRrawr 24

® June 24 /5[ 24
Correct Answer :-October 24 / 3[dgdR 24
16)

Question Stimulus :-

What is the Anglo Oriental College established in the 19th century by Sir Syed Ahmed Khan
is better known as? / 199 dl ¥, TR VUE 3gHe WM GRT WM Tl RTed wiaw &1 fFrg 9m I
ST STt 82

e Aligarh Muslim University / 3[cIT¢ H%ITI' qﬁaﬁhﬁ
¢ Central University, Hyderabad / ﬁg?r ‘Iﬁﬁ'ﬁﬁﬁ, RIS
e Jamia Milia Islamia / STTFRrT faferar s

® Lucknow University / T3 qﬁaﬁﬁﬂ
Correct Answer :-Aligarh Muslim University / 3[@1T¢ gfead gf-aRidt

17)
Question Stimulus :-

Where in the body is cholesterol mainly produced? / YRR & & UNT § HlAvid BT I BT
U I ghar 82

® Adrenal glands / Glﬁlw hfYy
® Pituitary glands / ﬂ'{q hfYy

® Liver /9®d

® Islets of Langerhans / ATRE ﬂﬁﬁ'ﬁﬂﬁ'
Correct Answer :-Liver / ddd
18)

Question Stimulus :-

After whose assassination did “Harivansh Rai Bachchan” write his last poem, ‘Ek November 1984°? /

fPaat g1 & 91¢ "gidx I == A Al Sifaw Hfaar "ve FavaY 1984 fardl?
 Rajv Gandhi / oG e



e Mahatma Gandhi / HGTHT 10

¢ Indira Gandhi / gﬁ'ﬂ e

e Lal Bahadur Shastri / STl §gTgR Rt
Correct Answer :-Indira Gandhi / 337 TTeht
19)

Question Stimulus :-

Which of these is the highest civilian honour given to an Indian? / g o ¥ 19 91 Jak= s@faw
R, TP YRAIT &I faar ST g2

e Param Vir Chakra / ¥ 4R %
e Padma Shri/ TSIt
® Padma Vibhushan / USI ﬁ'ﬁ[ﬂ'UT
® Bharat Ratna / HRd ¥d
Correct Answer :-Bharat Ratna / HRd ¥d

20)

Question Stimulus :-

With which sport is the Rangaswamy Cup associated? / [T FY fhrg Ta | defed %?
e Hockey / B"I%I”ﬁ
e Cricket / fppe
e Badminton / defiieqa
e Tennis / o
Correct Answer :-Hockey / L4
21)

Question Stimulus :-

The ‘Greenhouse effect’ is mainly due to increase in atmospheric / TaiaRU ¥ gBrd: fad

¢ ¥ ' MT818T yHE giar 82
o Ozone/Gﬁ\_,rﬁT'l



® Carbon dioxide / BT SFATHIZS
® Nitrogen / SIS

® Sulphur dioxide / TEHY SIS ATFATSS

Correct Answer :-Carbon dioxide / BTdT SIZATHIZS

22)
Question Stimulus :-

The original name of Mahabharata is / HgIHRd &1 Hd ATH %
e Bharath Katha / HIRd dYT
e Jai Samhita / ST '\‘I%?IT
® Rajtarangini / Torafiroft
e Kathasaritsagar / FYRINVANR
Correct Answer :-Jai Samhita / 5T Tt

23)
Question Stimulus :-

Bharatanatyam originated in / HIdHITCaH RY 3T
o Kerala /®Bd |
e Tamil Nadu / af¥ra-Tg &

e Andhra Pradesh / 3T FI%QT s |

e Karnataka / B-Ilc® A
Correct Answer :-Tamil Nadu / Afi@-rg o
24)

Question Stimulus :-

‘Hindola palace’ also called ‘Swinging palace’ is located in which district of Madhya

Pradesh? / 'fESiar wga o 'gan wea' Wt 5d §, AW U & o4 A ford A fRya 32
® Dhar / YR

® Chhatarpur / SRR



e Alirajpur / 31@?1\?5[\'

¢ Jhabua / Hg3T
Correct Answer :-Dhar / YR
25)

Question Stimulus :-

Which of the following is NOT a saree made in Madhya Pradesh? / faddsa ?ﬂ'x‘l‘l?ﬁ % Eli
Ao vy # ffifa 7 @ 82

e Chanderi / il%ﬂ

® Maheswari / Il'%'w

® Bagh print / dTY fiie

e Pochampalli / Ureredt

Correct Answer :-Pochampalli / Ut

Topic:- Mechanic Diesel
1)

Question Stimulus :-

Name the instrument used to check a piston ring gap. / e o SiaRTd & Aie & ﬁI'Q Ugad YA DI
A dd1sU|

® Feeler gauge / uﬂ?r\fﬂvr

® Dial gauge / ST o

® Height gauge / vﬁ'l's:ﬁ\_r[

¢ Inside micrometer / TP ﬁ&ﬂ'ﬂTﬁ
Correct Answer :-Feeler gauge / BRI
2)
Question Stimulus :-

The power developed in an engine due to burning of air-fuel mixture is called power. / 3T§§‘2FI

o1 & g8 & FRU S A faw e wfe PEAl gl

® true /9



® absolute / I]:Uf

® indicated / ﬁﬁﬁ
® mechanical / s

Correct Answer :-indicated / gfed

3)
Question Stimulus :-

Air filters clean the air before it goes inside the cylinder. What will happen if unfiltered air enters the

engine continuously? / aTg flreex a1g ) RIAUSI & 3R WM | Ugd HIE &7 & | FTRI Al
3Mfhees gd1 Sl | fARaR U sl 82

® Engine noise will increase / 'E'[GI"_'[ CIRICIS ﬁ'g@ a"ﬂ

® Engine will overheat / 3\_:|7'T Sifaarfua 33[ SITET

® Engine parts will wear out faster / E\TF'T & YT ool § ford

® Qil consumption will increase / ?I?[ CARCLR] i | Q@ m
Correct Answer :-Engine parts will wear out faster / mﬂ%? YT it I fera)
a)

Question Stimulus :-

Valve clearance is given to ensure that the valve closes fully. Where is the valve clearance given in an

overhead valve operating mechanism? /meﬁﬁ%mﬁﬂ?mﬁqaﬁ%%?ﬁﬁ
ol =7 A §¢ 81 HUN area ufvaras srifaft § area sy $ei fear wimar 21

® Between valve tip and rocker arm finger / dled fou 3z e R & dh
® Between cam hole and tappet / G ﬁf&" 3R eufe & d
e Between push rod and tappet / JXT B¢ 3T ¢ufe & 9

e Between valve and valve seat / dled 3R dred i & o9

Correct Answer :-Between valve tip and rocker arm finger / dled fou air Ap=aemd R & =

5)
Question Stimulus :-

Name the tool used to take out the leftovers of a gasket between two assembled parts. / 3H SUDBIU[ BT

19 Fa1ST o) &) Soford HRl ¥ fiT & Hude & Jv ym o e & R uged gar 21



® Scraper / KIlv it

° Chisel/@:ﬁ

¢ Knife /dIP

e Hacksaw / ?ﬁFT 3
Correct Answer :-Scraper / TaYH
6)
Question Stimulus :-

Battery in a vehicle is charged by / Waﬁaﬁ aRT Gﬂaﬁ'ﬁ Eﬂ?ﬁ%l
* Electrolyte / ﬁg’q_d SUaca
®* Dynamo / SRR
e Self starter / ¥ SRHD

e Inverter / ﬁ'é?

Correct Answer :-Dynamo / STAHI

7)
Question Stimulus :-

The lower part of piston is called the ./ o= &1 fA=raT Wt Dhedldl %I
® piston crown / fea s
® piston ring section / firees Ry
® piston skirt / e wd
® piston boss VAL Rk KI5
Correct Answer :-piston skirt / fO% e
8)
Question Stimulus :-

Tab washers are used for ./ %H dRIR & ﬁl’Q’ UYgad 3.1?[ %'I

e preventing vibrations / U CARICE |



® selflocking / ¥d SffYa=M

e fastening structural fabrication work / TS fAaior st du=

® Jocking the nuts / FIC & SfUT=ME

Correct Answer :-locking the nuts / ¥IC & SffHE=E

9)

Question Stimulus :-

Which of the following airless injection system has fuel injection pump and fuel injector in one unit? ./

fru & @ 1 @ arRRRa siaduor gurelt &) te so1s | $U AU 4 3R T siddlus gar ez

® Inline fuel injection system / Wﬁﬂq GI?TQ'Q'UT YUt

® Distributor system / fara=or yomreht

® Unit injector system / Wlé SA&UP Yomett

® Individual pump system / fafRry vu yorreft
Correct Answer :-Unit injector system / Wr&; &S Jorrelt
10)

Question Stimulus :-

is the distance between the centres of the front wheels. /

fFaRghe
* Wheel track / @I ¢P
® Wheel base / BTd 99
e Wheel length / BId AY
* Front over hang / ¥¢ 3NaR 81

Correct Answer :-Wheel track / @1 ¢

11)

Question Stimulus :-

T ufgA F I &

In which engine will the crank shaft length be the maximum? / foa ESE] T e I P m

3frpad gift?



e Radial engine / IEaqa ESR!
® Opposed engine / Ry o
® V engine / Gl o
® Inline engine / SCIIg gol
Correct Answer :-Inline engine / SIS gol A

12)
Question Stimulus :-

, a type of nut is used where frequent adjustment, removing and refitting are required. /
el TR WA, geT SR T RITYAT B TaRgHdl gidl @ a8l UPR & I
&1 YT fHar Srar 31

®* Wing nut/ﬁ"T _ac

¢ Thumb nut / Y+ AC

e (astle nut / $Id ¢

® Chuck nut /dd dC
Correct Answer :-Wing nut / {3 9¢
13)

Question Stimulus :-

The power developed in an engine due to burning of air-fuel mixture is called . /ETrF-I'ﬁ q1yg

$u 90T & g1 & SR faw e wfda Fgardl gl
e [HP
e BHP
e FHP
e HP
Correct Answer :-IHP

14)

Question Stimulus :-



Each cell in a lead acid battery develops a voltage of / T are aﬁﬁmaﬁ Cdl
dieew faeRa sear g

* 1.5volts / diee

e 1.8 volts /aﬁ'

e 2.1 volts /aﬁ'

* 2.5 volts / AIeE
Correct Answer :-2.1 volts / diee
15)

Question Stimulus :-

Lack of lubrication in main bearing is due to R LC2 aafer d Qe &t FH
& PRUTEIA B

® oil holes in the crank shaft blocked / b I | A=Y ad %‘s{

e il holes in the camshaft blocked / FHIAGE | IaFY dd fog
® il holes in the connecting rod blocked / Taiferd VS H 3wy dd fog
® oil holes in the cylinder block are blocked / Riciver @vs # srawy dd fog

Correct Answer :-oil holes in the crank shaft blocked /3’1’7 Mo A Wﬂaﬁm

16)
Question Stimulus :-

The p%oint angle of twist drill for general purposes is / WB%’W%? mw ya et &1 ﬁ@'
HIT

® 135 degree / &
® 90 degree / f&ht
® 60 degree / f&ht
® 118 degree / f&h

Correct Answer :-118 degree / &3t

17)



Question Stimulus :-

Identify the type of floating of gudgeon pin provided with Circlip. / ey e Iy Uald UEERCEE:]
FAET & UPR Bl

® Three quarter floating / Gik| ?ran'é TS
Semi floating / 3 v

Full floating / 'lIUftﬁﬁﬁ‘T

Non floating / ﬂ?lﬁﬁﬁ'ﬂ

Correct Answer :-Full floating / JUI FRIIfeTT

18)
Question Stimulus :-

Excess carbon depositions in the exhaust system will ./ e T R srafte s &

IBERUES

® reduce back pressure / Y qId v H aTIT

® increase back pressure / UY qId ﬁ'ﬁ'@ Eﬁ"ﬂ
® result in fluctuating pressure / oTd H SfRURen 3t
® have no effect on back pressure / UY qId UX aﬁs‘u‘m‘q’ qﬁﬂé"ﬂ

Correct Answer :-increase back pressure / q%rmﬁ'q@aﬁ’r

19)

Question Stimulus :-

Surface plate is made of /98 we 3 fAffa @?ﬂ %I
e Red stone. / AT JRIY
* Marble. / GTHRWR
e Granite. / UATSC
* Quartz. / PIEH

Correct Answer :-Granite. / ‘BFTF{C’

20)



Question Stimulus :-

Vibration Damper is used in front of crankshaft for / HHUTUE & 3T HUT 3qHCH

_ sfmvgwEag

e Store energy / Sl GUGUl

® Reduce engine noise / W’Zﬁ?fﬁw CIE]

* Reduce tensional vibration / TTd eI HUT D HH B

e None of the above /mﬂaﬁﬁaﬁéﬂﬁ
Correct Answer :-Reduce tensional vibration / TTd A® HUT D HH B
21)

Question Stimulus :-

Which is the instrument used to measure tappet clearance? / P AT SUBUT qé IqRR FAO &1 HTUA
& R yga glar g2

® Telescope gauge / W‘I Tt
® Feeler gauge / BIaR el
® Dial gauge / STIA Tl
® Depth gauge / TI?TI%ﬁ\_:T
Correct Answer :-Feeler gauge / BIeR e

22)

Question Stimulus :-

Which one of the following works in conjunction with the governor? / g d Q&9 TaR F Iy
O # S H?

Fuel injector / g'EFT GIT‘I'QW

Fuel feed pump / '&"'EFI HIOT Uq

® Fuel injection pump /g'il"_'[ Sderdt uy
Fuel filters / 34 ftheex

Correct Answer :-Fuel injection pump /§%|=r Sderdt uy



23)

Question Stimulus :-

When an engine stops functioning due to some fault, and is beyond the control of the operator, it is called

maintenance./Wﬁgﬁﬁﬁ%wwmaﬁm%%aﬁ?aW%
Az A argR gl AT 8 a9 59 TG Haa g |

e advance / 3RH

* break-down / HoIH
o daily / 3@
® preventive / ffarR®

Correct Answer :-break-down / Hol-

24)
Question Stimulus :-

In petrol engines, combustion takes place at ./ ﬁg’m ﬁ*ﬁ'ﬁ'ﬂ?ﬁ TR'@HT
gl

® constant temperature / R agH=
e constant volume / RR mgaq

® constant pressure/ R old

® bothBand C/GHI B3R C

Correct Answer :-constant volume / fRIR 3Mad=

25)
Question Stimulus :-

The point angle of scriber is / Wmﬁgaﬁw %
® 30 degree /%Eﬁ
® 12 to 15 degree / 12 ¥ 15 feht
® 60 degree / 60 &

e 5 to 910 degree/ 53 10 f&Ift



Correct Answer :-12 to 15 degree / 12 ¥ 15 {33t

26)

Question Stimulus :-

What are piston rings made of? / e aeg ﬁv‘\qﬁ ﬁﬁ?‘l’ @% %.?

e Steel / THTd

® Aluminium / Qﬁ&lﬁ'ﬂ'ﬂ

® Copper/ GICH

e (Castiron /WT ?ﬂ?T
Correct Answer :-Cast iron / S&di &gl
27)

Question Stimulus :-

What is the function of the oil cooler in an engine? / ETTF'T A do fafers &1 w1 &1t %?
® To increase the temperature of oil / aa & arga o Q@ HIAT
® To lower the viscosity of oil / CREIRCIECIIREC KT
® To maintain the temperature of oil / ad & dTIHE B CEIYELCEI]
® To reduce the temperature of water / SI¢l & dTIHTE B geHT

Correct Answer :-To maintain the temperature of oil / ad & qIIHT B qHqTE XG-T

28)
Question Stimulus :-

The main function of a fly wheel is to / TIfauTer® ash B uqy9 Cgu %

® store energy during power stroke & supply it in Idle strokes / wfed E:FF & E‘.ER'FT St P 3R

SIS 3TYfd Fspia e B HIAT

® increase the weight of crank shaft & prevent vibrations. / P ATUE & goi- A Q'@ HAT 3R

HUF BT AHT
 mark the timing / TH BT Db BT

e rotate the wheels / Ufgdl T ELU&'I DIAT



Correct Answer :-store energy during power stroke & supply it in Idle strokes / wIfea @Tﬁ &

SR Sl I8 3R sHBT MY (SpIT Wi DI HIAT
29)
Question Stimulus :-

An engine has a clearance volume of 100cm? and a swept volume of 900cm?>. The compression ratio

is ./ U o1 DT T 3maa= 100 AHI3 8 3 WP 3mad+ 900 9113 g1 i
U

e 10:1

° 9:1

e 8:1

° 11:1
Correct Answer :-10:1
30)
Question Stimulus :-

is used to limit the maximum pressure of the oil. / PTIYART ad & AfUHaH
AP AT T FRA A G

® Pressure relief valve / ¢Id fYreliws area

e Qil pump / ad Uy

e Qil gallery / CREIE

® Drilled passages / yafre ant
Correct Answer :-Pressure relief valve / WWW
31)

Question Stimulus :-

Throw is the distance between the centre of the crank pin to the centre of the main journal. The piston

stroke is thethrow./%ﬁ,a.ﬁ?ﬁ:lasa@@a@m%%%maﬂgﬁ%l
fre e 0 1 31

e Half / 3TYUT

® equal / JHA



® double / gITHTl
e one-fourth / Th iﬁQITg

Correct Answer :-double / gl

32)
Question Stimulus :-

What is the reason for excessive chain noise in timing case? / E'Igﬁmw H 3 9 MR &1 1
PRUIE?

® Changing RPM of crankshaft / FHITI HTURTAHIT RPM

e Excessive smoke / s ‘{-[C’rﬂ

® Excessive wear of sprocket / qhed I AU mrs,‘

e None of the above /mﬁ'ﬁﬂﬁgqﬁ
Correct Answer :-Excessive wear of sprocket / qhed PI W\Wﬁ'\q'lg
33)

Question Stimulus :-

The fuel tanks are provided with baffles. What is the purpose of providing baffles? / é%ﬁa%q‘raﬁﬁ%r

& 1Y S frar J1aT 8 1 AY B! UGTH B BT I T 82
* To avoid corrosion of fuel tank / S TP P R A gIM & forw
* To keep the fuel cool / 3¢ P Tfad Ia+ & g
® To avoid slushing of fuel during movement / HI@ P SR ¢ P fausd &1 AH F forw
* None of the above / SUNGT H A HI§ gl

Correct Answer :-To avoid slushing of fuel during movement / GERER a?'F-T é%m%? fauwT 3
Ao & g

34)

Question Stimulus :-

The current flowing in a circuit is measured in / gy fruaﬁ%a 3-1% CI| ﬁgu?r URT
H Ardt st 21

® Volts / dlee



e Ampere / TARR
e Ohms/ 37
e Mhos /'Fﬁ
Correct Answer :-Ampere / 3R

35)

Question Stimulus :-

A battery stores electrical energy in the form of / aiﬁ ﬁgﬂﬂﬁfaﬁ & *=q A dfd
AT g

® Magnetic energy / ifA® el

® Chemical energy / IS Sl

® Physical energy / Wifaw Sef

® Electro static energy / ﬁgna Qfas et
Correct Answer :-Chemical energy / TS et
36)

Question Stimulus :-

What will happen if the setting in the voltage regulator is too high? / Tfe e s &1 ﬁwmaga
I g1 SITY ol &RIT gR?

® Charging of battery will be at low rate / anf BT ATAE FH R W e

® Charging of battery will be at high rate / agfrm STARM I &3 WR I

® Charging of battery will not happen / 37;3 BT ATANH q—(’&EﬁTIT

e None of the above /mﬁﬁﬁa’ﬂgqﬁ
Correct Answer :-Charging of battery will be at high rate / azﬁm Gﬂﬂ?ﬂﬁﬂ?ﬂ'\’ﬁm
37)

Question Stimulus :-

A four stroke petrol engine has suction, compression, power and exhaust strokes. During which stroke
will the pressure inside the cylinder be below atmospheric pressure? / Tdh WW EX G AOR CULUE



gm,mmﬁmwaumw%wm%mmmmmmam
SITET?

® Suction stroke / JUUT @3?

® Compression stroke / ﬂ"ﬂﬁ@iﬁ
® Power stroke / *ZT%['\‘@?F

e Exhaust stroke / IECIL] '&ﬁﬁ?

Correct Answer :-Suction stroke /?ETUTW

38)
Question Stimulus :-

Dynamo is used to charge battery in a vehicle, which is driven by a belt from the ./ ST BT

SUGRT 9181 § ot Smafia #e+ & fore forar Smar 8 =it fb Y US gRITAAT 3|

crank shaft / W AT

cam shaft / S TMH

battery / a'gﬁ
piston / s

Correct Answer :-crank shaft /% TMHC

39)
Question Stimulus :-

The H,SO, (sulphuric acid) percentage in lead acid battery is . / ¥ 3| aﬂﬁ' H,S04

(TERINE ) PIUfaRA
* 10%
* 20%
°* 30%
* 50%
Correct Answer :-30%

40)



Question Stimulus :-

In a modern day vehicle, the starting system consists of A1} W q9g & a'IET'ﬁ' ﬁ,
YR Yorret # g &

® a battery, a switch & a dynamo / TP aﬁ, Udh = sk U STIAH!
® a battery, a switch & a starter motor / T a'gpf, U &g sk U IR HieY
® a battery, a switch & a distributor / Udh aiﬁ, U &g sk U ICGRGA
® none of the above / wﬁa i | ﬁ aﬁ's‘ 7'|'bpf
Correct Answer :-a battery, a switch & a starter motor / T a'gpf, U &g 3k Udh WIS Hiex

41)
Question Stimulus :-

The purpose of water pump bypass hole in the engine cooling system is to ./ ETJF'I' )

Tiae vormell # oid U9 Iraury fog &1 3exd g
® prevent collapsing of radiator hoses / U qrgyu P fRA I A1

allow coolant to flow within the engine while thermostat is closed/ SId GILESIIL] [} E?f dd ETrF'T &
3ex XMda® & Jarg &t rgafa &1

allow normal water circulation from engine to radiator / SoI T ¥SUex a& ATHR od ufvead

@1 rgafd ST
® not to serve any purpose /w f G%W Ca T el BT

Correct Answer :-allow coolant to flow within the engine while thermostat is closed/ STd ATaRYTL

d¢ Bl 99 S & 3fex YMda® & uarg I rgafa &1

42)

Question Stimulus :-

Which material is used for making inlet valves? / aﬁq 71 tIETQf u%*-zr @ure &1 f[Afda Wﬁ *» i%ﬂl'
T gidl 872

Nickel chromium steel / fafea siftma HId
Silicon chrome steel / FRIfIPT HIH ST
Stainless steel / EoE [GE: | eHId

High carbon steel / 3= CACE RG]



Correct Answer :-Nickel chromium steel / fFfFa Siftran HId

43)
Question Stimulus :-

What is the primary function of hydraulic oil in any hydraulic system? / o3t ft ggeforaaa o

SaTierd o $T T S gl 82

® Lubrication / '\aﬁ

® Reduces heat / ST B HHT

e Reduces friction /‘El'd:UT B HHI

® Transmits power / wIfed TAROT
Correct Answer :-Transmits power / Qe FERUT
44)

Question Stimulus :-

Which among the following materials can be cut by the rasp cut file? / Fadd s I i ad we
et & PIC o1 T 72

e Cast iron / Q@i GG
e Brass /Waa

e Wood / APSI

o Steel / XTd

Correct Answer :-Wood / Eih_eﬁ

45)
Question Stimulus :-

The compression ratio of a diesel engine is in the range from / SId g9 BT s SIUTd
WA AT g1

e 7:1to11:1
e 0:1to14:1

® 16:1to022:1



® 4:1t09:1
Correct Answer :-16:1 to 22:1
46)
Question Stimulus :-

The firing order of a four cylinder engine is ./ PR Ryevss g9 &1 3 U ?

° 1,2,34

° 1,3,4,2

°* 4321

° 1,432
Correct Answer :-1,3,4,2
47)

Question Stimulus :-

Worn-out cam lobes will lead out to one of these. / o 4y HH AT S BRUT E:I'ef q T EaTIT?
® Decrease in engine life / ESE L] S o ot
e Increase in engine life / SI- DI S ﬁg@
® Decrease in volumetric efficiency / ATAdATHD q&ldl ek |
* Increase in valve clearance / 9T¢d TN ﬁq@

Correct Answer :-Decrease in volumetric efficiency / SITITATHSD &l o pHl

48)

Question Stimulus :-

The manually operated jack is called a /ey ﬁ Tarferd % ﬁﬁl’cﬁ %I
e Hydraulic jack / GaEfeId SP
® Screw jack / &P ECg

® Pneumatic jack / aTﬂilTI%H ECg
e None of the above / SURIST H | BIg o1



Correct Answer :-Screw jack / &P EC

49)
Question Stimulus :-

Three resistances of 6, 10 & 15 ohm connected in parallel. What is the total resistance of the circuit? / 6,

10 3R 15 31 & 19 wfeRY THiaR 0 A "o & | ufvuy &1 o ufariy @ gime
e 21ohm /31"
e 150hm /3"
* 6ohm /3
e 3ohm /3
Correct Answer :-3 ohm / 31H
50)

Question Stimulus :-

According to the 20 hour rate, a battery that can deliver SA for 20 hour with a cell voltage remaining

above 1.75V would be rated at J20E B RSP a—a zo‘a?:%?i%mf 5
THiTR Yad B AHd 21 S0P a1G IF 1.75 Ao Y Xge g | 99§

® 6Ah

e 8.75Ah
e 35Ah
® 100Ah

Correct Answer :-100Ah

51)

Question Stimulus :-

Why is the pressure cap fitted in a radiator? / ISR H e Gk ﬂ’éﬁ ??T‘ﬁ %’?
® To provide water spilling from radiator. / AR A 5 SRIEATTT UG I & ﬁﬂ!

® To decrease boiling point of water and allow engine to operate at low temperature. / A & PUAD

P FH B P forw 3R So19 &) Ay avHE R Jfad s &

® To increase boiling point of water and enable’s engine to operate at high temperature. / ST &

FYATD U g F & T 3R S99 F 3= AT0HH R J&H H31 & g



® None of the above. /mﬁﬁaﬁéqﬁ

Correct Answer :-To increase boiling point of water and enable’s engine to operate at high

temperature. / T8 & SYFID H gk P P (AT 3R o1 B1 I ATIHH W T H1 & g

52)
Question Stimulus :-
In comparison to 2-stroke engines, a four-stroke engine has
EERke] g
e lighter fly wheel / b AU Ah
e same weight fly wheel / FHH TfAUTAS TH
e heavier fly wheel / U} TIfaUTeI® O
® none of the above / mﬁ@aﬂgqﬁ
Correct Answer :-heavier fly wheel / 4RI TIfdUT® ah
53)
Question Stimulus :-

The percentage of oxygen in atmosphere is approximately

AT gl
°* 8.75%
®* 16.85%
°* 20.95%
° 12.85%

Correct Answer :-20.95%

54)

Question Stimulus :-

2P e B AT H, 4 D

./ AIHUS A | TR &1 fazrd

Checking and adjusting an FIP for equal interval between starting and ending of the diesel injection is

known as ./ SISTd &Y & YR 3R THTYA & S & GHIH 3iaRTdd & fu Twamsdl &3

S 3R qHTESH HeaE gl
e calibration / Y=
® phasing / WfoRT



® injection pressure adjusting / GIT‘T?H'Q'UT MEKEIRIGE]
¢ fuel regulation /g?F'T IEUEL

Correct Answer :-phasing / WBfoT

55)

Question Stimulus :-

Oily floor of the diesel workshop should be cleaned by using ./ Sod HrA=ITET $T dei g BRi
& SUANT §RT AT foram &1 Tnfeu |

e Sand/d

o Water / oTd

e Carbon-di-oxide / BT STFAHTRIGS

* None of the above / SUGT H A BI§ g1

Correct Answer :-Sand / i?r

56)
Question Stimulus :-

Oily floor of the diesel workshop should be cleaned by using ./ SoTd SIS $T dei g BRi
& SUANT §RT AT fovam &1 Tnfeu |

e Sand./Xd

o Water / oTd

* Carbon-di-oxide / PTI STFATRITSS

* None of the above / JURIGd A | BI§ a1

Correct Answer :-Sand. / ¥d

57)
Question Stimulus :-

“Viscosity” is a very important property of lubricant .Viscosity of a lubricant is defined as

/ “ATTAT” WED| BT 9§ ATIAD 0T 8| Wgh BT Xg=aT & & U
o ufeuriya 21

® foaming and flowing / I MR Udle




® body and penetration / o ok uaw

® resistance to flow of oil / KD YUdle & ufeRiY

e ease to flow and fluidity / UdTg 3R TRAdT BT TR BT
Correct Answer :-resistance to flow of oil / CRK:g YUdle & ufaiy
58)

Question Stimulus :-

When the electrolyte levels in a battery is less than the required amount, it is
compensated by adding 3UYed WR aRIP HET I

/ vE &
®U gl o141 §, 99 o1 firare? saat Smyfef &t St 2
® sulphuric acid / H?(Rlﬁa? ST

o distilled water / SITJd oTdl

® drinking water / g o

® none of the above/m i | ﬁ aﬁ's‘ 7'|'Eapf
Correct Answer :-distilled water / SITJd ST
59)

Question Stimulus :-

Name the instrument used to check the specific gravity of electrolyte in Lead acid battery. / 39 I3 BT

AT FaTg foraeT v W s ot ® fagaa sraued & fafiy a@ &) wiem & i frar wiran 81
e Voltmeter / diecHlex
e Barometer / ARIGTIHTYL
e Ammeter / THICR
* Hydrometer / TSS Tl

Correct Answer :-Hydrometer / BTSGTHTUY

60)
Question Stimulus :-

What is the chemical combination of diesel fuel? / Tﬂ\_rl?l'g‘il:[ T IS Gy W%?



® Carbon & hydrogen / P 3R 313@\717'[

® Carbon & nitrogen / HIa 3R T'I'I?i@'GF'I'

® Hydrogen & oxygen / EE@T:F{ 3R SffeRfte

® Hydrogen & nitrogen / F@\_ﬂ:{ 3R T'I'I's'g_g'-']TrF'I'
Correct Answer :-Carbon & hydrogen /W Gﬁ?ﬂﬁﬁﬁm
61)
Question Stimulus :-

'V' block is used to hold round bars. It has a 'V’ groove which is equal to V' ES ma VS

P YR F31 & T 7Y 3d €1 399 U v’ @ig g ol & 9uE gl
o 90 degrees / fS
* 60 degrees / &3t
o 120 degrees / f&H
o 30 degrees / fSt
Correct Answer :-90 degrees / f&I
62)

Question Stimulus :-
Turbo charger is used to increase the air inflow to the cylinder. From where does the turbocharger gets
the drive? / TSI GOk ®T IUANT RAveT & a1g & ware A gix H & forg fovar s g1 &t
SR $I gTgd Bl A fhedr g2

® Battery / a_gﬁ q

® Exhaust gasses from exhaust manifold / frafas et A fAafaes 79 A

® Air fuel mixture getting inside the cylinder / Rdivey & srex q1g -sﬁu:[ ot &

e Muffler / HBH R |
Correct Answer :-Exhaust gasses from exhaust manifold /ﬁﬂhﬁ’? Teit A fRafas A9 A

63)

Question Stimulus :-



The distance a drill advances into the job in one complete revolution is known as ./ W

$d & Yol uRspaur § Yaut gRT a4 3 T g &1 F5d gl
® Feed / HRUI
e Cutting speed / PeTg TTTd
e RPM /3RUTH
e Machine speed / AR Tfal

Correct Answer :-Feed / HIUT

64)
Question Stimulus :-

What is likely to happen if the thermostat is struck in an open position? / ¢TI I afe arawiTdt E;,?ﬂ

fRufy & v g
e Starts slowly warming up of the engine / I BT T AT R TR= g
® Gets overheating of engine / ESE Srfaarfua Eﬁ ST
* Difficulty in starting / q[¥ HEK:| &‘I%‘—ITE{ ghft
e None of the above /G'Cﬂ-'hﬁ' s | '\ﬁ' aﬁé qﬁ

Correct Answer :-Starts slowly warming up of the engine / 51 ®T e @HT Ciry = ﬁTIT

65)
Question Stimulus :-

The operation where in external threads are cut is known as / agmﬁlﬂﬁw Q@Wﬁ%
FFUHAFETSETIE

® Tapping / oftr
* Dyeing / ST
®* Reaming / fogadq
e Drilling / U384
Correct Answer :-Dyeing / STS1

66)



Question Stimulus :-

Where are the injectors heater plugs located in? / GIHQW GILCAS UK | RG] 3-1% %:?
® Valve door / qed SR
e Cylinder head / RIAUSI 3
e Cylinder block / fIAUsR =ATH
® Crank case /%W
Correct Answer :-Cylinder head / Rcivsz gs
67)

Question Stimulus :-

In a Four stroke diesel engine with firing order of 1342 has cylinders paired as /AR '\‘?ﬁa?

3o ¥ 1342 F 3T U & A1y R@vs PEudgREgad
® Cylinders 1&2 paired and 3&4 paired. / RdveT a1 Td 2 'ﬂ'@’d 3R 3 Td 4 H&H
® (Cylinders 1&3 paired and 2&4 paired /ﬁlﬁ“@? 1 Qﬁ' 3 g&lﬂ' 3R 2 E_Q' 4 'ﬂ'&l?f
® Cylinders 1&4 paired and 2&3 paired /ﬁlw 1 Qa' 4 gﬁiﬁ 3R 2 Qa 3 gﬁiﬁ‘f
e None of the above /mﬂﬁ | aﬁ's‘ qﬁ

Correct Answer :-Cylinders 1&4 paired and 2&3 paired /ﬁlﬁm 1Td 4 gﬁ’d 3R 2 Td 3

gfia

68)
Question Stimulus :-

Name the instrument used to remove and refit piston rings. / 39 = BT ATH IdI3T <l fUeeT 9a9 &1
g 3R fiiY & g oA & fore Iudi gian g1

® Piston ring compressor / e aag ddies®

® Piston ring expander / firee qou fowR®

® Piston ring groove cleaner / e aoa @ Mt
® Piston ring grinder / e aog v

Correct Answer :-Piston ring expander / fU¥e- 9a9 fAwaR®



69)

Question Stimulus :-

Why is petroleum jelly smeared on battery terminals? / a'gﬁ RRIR ﬁgﬁﬁnm Seft Y @t @) St %?
® To prevent sulphation / TP B AP & PQ'I'Q'
® To make it look pretty /?{\ﬁ Wﬁ@ﬁ %m
e To prevent arcing / 3T AH %ﬁl’Q
® To prevent overheating / T aEHAFA & i%fQ'
Correct Answer :-To prevent sulphation / TEBR DI AP & ﬁl'l'{
70)

Question Stimulus :-

Which one of the following is NOT a heat treatment process? / g A P9 ST IR ﬁﬁlqﬁ%?
® Annealing / Sfarg
® Normalizing / TRATHTRITHROT
® Machining / =hq
® Tempering / TR
Correct Answer :-Machining / ERIEE|
71)

Question Stimulus :-

The cylinder head is generally made of / Rraver &1 RR1 Im=e: I
ffifa giar g1

o steel / SHTId
® castiron /WTFﬁ?T
® brass / UG
® wrought iron / e ATARA
Correct Answer :-cast iron /W’f?ﬁﬂ

72)



Question Stimulus :-

The graphical representation of Opening and Closing of Valves is known as / diedl &

o T4 &g g1 ST ATHI fAegor FeaE gl
® Valve operating system / died yaTe oF
® Valve overlapping diagram / qied Sifaaary= 3
® Valve timing diagram / qied PTel HTUH SRW
® Valve functioning diagram / ﬁwmu&ﬁ AR

Correct Answer :-Valve timing diagram / died PTe AU 3R

73)
Question Stimulus :-

What is the purpose of turbo charging in a diesel engine? / Tﬂﬁlﬁmﬁ'aﬁ S{TART T T G%SRT %?
® To make the engine smooth / sﬁqaﬁﬁv—naﬂm
® To cool the engine / ST CIRICGERIE]
® To lubricate the engine / Wa’ﬁwa_'ﬂ
e To increase the power output of the engine / $oI $1 Ufed ST ﬁ'g@ HIAT
Correct Answer :-To increase the power output of the engine /gﬁﬁaﬂﬁ It A q@m‘—n

74)
Question Stimulus :-

Which of the following grades of oil is the thickest? / A fea guft &1 %WFWTHET%I
® SAES
e SAE10
e SAE20
* SAE 30

Correct Answer :-SAE 30

75)

Question Stimulus :-



What type of nozzle is used in heavy diesel engines? / YR Stord ESE H frg yorR #t ﬂg Ugad gl 82
¢ Single hole nozzle / mm ﬂ:";
® Multi hole nozzle / 9g ﬁﬁ‘t‘g’g
® Pintle nozzle / ﬁ?ﬁﬂg
® Pintaux nozzle / ﬁﬁ%\‘l’ﬂg

Correct Answer :-Multi hole nozzle / 98 5 g



